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COEFHTERZALINTE
NEREHEHEAESECHEAGHHEXBEAER EAEA+FEE
EMOREHEBREMS FER (Differential equation) - &3 FIAMRLIIT ¢
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(1) E#oFEX (Ordinary differential equation)
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(2) R# S AEIR (Partial differential equation)
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(3) Z# 45 FER (Total differential equation)
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B 17 8143 77 B =, (Simultaneous differential equation)
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(1) B& (Order)
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(2)  Zx (Degree)
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3. MRMEEIERM
(1) FE M #45 F 2R (Non-linear differential equation)
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QEBIE—RKF  BUIY ) +y +2 =0 Ky + () +y=z
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(2) sy 5 R (Linear differential equation)
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4. f#& (Solution)
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7 momeEns s EXBRU (A2 +3)F
3z dz + y
2+ 3 y:+2
e

3 2 \ 1 a2
;111(1“-!-3)*}';11}(3/"}—2}:(;1

dy =0

3ln(z® +3) + In(y*+2)=2c =k
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